19/03/2022 12:55 Kit voiture robot OSOYOO V2.1 Lecon 1 : Voiture robot de base « osoyoo.com

Connexion S'inscrire

"séynu Maison Toutes les catégories Contactez-nous Rabais © @ © 1) fancais

Rejoignez-nous

Emplacement: Accueil » Kit voiture robot OSOYOO série A » Kit voiture robot V2.1 » Kit voiture robot OSOYOO V2.1 Legon 1 : Voiture robot de base

Kit voiture robot OSOYOO V2.1 Lecon 1: Voiture robot de base

Heure de publication : 2020-05-12 18:05:49 Catégorie : V2.1 Kit de voiture robot

REMARQUE : TOUS LES PRODUITS OSOYOO POUR ARDUINO SONT DES CARTES TIERCES ENTIEREMENT
COMPATIBLES AVEC ARDUINO.

Détaillants en ligne autorisés

Ou acheter I'ensemble avec batteries 18650 et chargeur USB

Acheter au cheter aupres de

Acheter aux Etats-
Buy from DE

I'informatique

@BUY NOW BUY NDWI]>

Ou acheter I'ensemble avec les boitiers de piles 9V et 18650

Unis

Acheter au cheter aupres de

Acheter aux Etats-
Buy from DE

I'informatique

Unis

e Objectif

o Pieces et appareils

e Hardware Installation
o Installer des appareils
o Connexions

e Software Installation:

e Essai

A

https://osoyoo.com/fr/2020/05/12/osoyoo-v2-1-robot-car-kit-lesson-1-basic-robot-car/ 1/18


https://osoyoo.com/fr
https://osoyoo.com/fr/about-us/
https://osoyoo.com/?p=366
https://osoyoo.com/partner/
https://osoyoo.com/wp-login.php
https://osoyoo.com/wp-login.php?action=register
https://twitter.com/osoyooproduct
https://www.facebook.com/osoyooproduct
https://osoyoo.com/feed/
https://osoyoo.com/fr/category/osoyoo-robot-car-kit/v2-1-robot-car-kit/
https://www.amazon.com/s?k=Arduino+robot+car&rh=p_4%3AOSOYOO%2Cp_78%3AB08DHRLJ1N&ref=nb_sb_noss_2
https://www.amazon.co.uk/s?k=Arduino+robot+car&rh=p_4%3AOSOYOO%2Cp_78%3AB07XXPW9XP&ref=nb_sb_noss_2
https://www.amazon.de/s?k=Arduino+robot+car&rh=p_4%3AOSOYOO%2Cp_78%3AB08DHHXBTN&ref=nb_sb_noss_2
https://www.amazon.it/s?k=Arduino+robot+car&rh=p_4%3AOSOYOO%2Cp_78%3AB08DHHXBTN&ref=nb_sb_noss_2
https://www.amazon.fr/s?k=Arduino+robot+car&rh=p_4%3AOSOYOO%2Cp_78%3AB08DHHXBTN&ref=nb_sb_noss_2
https://www.amazon.es/s?k=Arduino+robot+kit&rh=p_4%3AOSOYOO%2Cp_78%3AB08DHHXBTN&ref=nb_sb_noss_2
https://www.amazon.co.jp/OSOYOO-Arduino-%E5%A4%9A%E6%A9%9F%E8%83%BD%E6%95%99%E8%82%B2%E3%83%AD%E3%83%9C%E3%83%83%E3%83%88%E3%82%AB%E3%83%BC-%E3%82%B9%E3%82%BF%E3%83%BC%E3%82%BF%E3%83%BC%E3%82%AD%E3%83%83%E3%83%88-18650%E3%83%AA%E3%83%81%E3%82%A6%E3%83%A0%E3%82%A4%E3%82%AA%E3%83%B3%E9%9B%BB%E6%B1%A0%E4%BB%98/dp/B07QWPRLKV/ref=sr_1_2_sspa?__mk_ja_JP=%E3%82%AB%E3%82%BF%E3%82%AB%E3%83%8A&crid=34VLI31BZ3X9H&keywords=Arduino+UNO+%E3%83%AD%E3%83%9C%E3%83%83%E3%83%88&qid=1641793764&sprefix=arduino+uno+%E3%83%AD%E3%83%9C%E3%83%83%E3%83%88%2Caps%2C374&sr=8-2-spons&psc=1&spLa=ZW5jcnlwdGVkUXVhbGlmaWVyPUEzUVZRUTFNQUhRV09SJmVuY3J5cHRlZElkPUEwNTA2MjM5MU1CR0w0OFRITlUySiZlbmNyeXB0ZWRBZElkPUExWFRFR1BTNDlJVDhIJndpZGdldE5hbWU9c3BfYXRmJmFjdGlvbj1jbGlja1JlZGlyZWN0JmRvTm90TG9nQ2xpY2s9dHJ1ZQ==
https://www.amazon.com/s?k=Arduino+robot+kit&rh=p_4%3AOSOYOO%2Cp_78%3AB07QWRS1Z9&ref=nb_sb_noss_2
https://www.amazon.co.uk/s?k=Arduino+robot+kit&rh=p_4%3AOSOYOO%2Cp_78%3AB07Z5PSTCF&ref=nb_sb_noss_2
https://www.amazon.de/s?k=Arduino+robot+kit&rh=p_4%3AOSOYOO%2Cp_78%3AB07Z5PSTCF&ref=nb_sb_noss_2
https://www.amazon.it/s?k=Arduino+robot+kit&rh=p_4%3AOSOYOO%2Cp_78%3AB07Z5PSTCF&ref=nb_sb_noss_2
https://www.amazon.fr/s?k=Arduino+robot+kit&rh=p_4%3AOSOYOO%2Cp_78%3AB07Z5PSTCF&ref=nb_sb_noss_2
https://www.amazon.es/s?k=Arduino+UNO+robot&rh=p_4%3AOSOYOO%2Cp_78%3AB07Z5PSTCF&ref=nb_sb_noss_2
https://www.amazon.co.jp/%E3%82%AA%E3%82%BD%E3%83%A8%E3%83%BC-OSOYOO-DKCT100100KU-%E5%A4%9A%E6%A9%9F%E8%83%BD%E6%95%99%E8%82%B2%E3%83%AD%E3%83%9C%E3%83%83%E3%83%88%E3%82%AB%E3%83%BC-%E3%82%B9%E3%82%BF%E3%83%BC%E3%82%BF%E3%83%BC%E3%82%AD%E3%83%83%E3%83%88/dp/B076GWC5RR/ref=sr_1_14?__mk_ja_JP=%E3%82%AB%E3%82%BF%E3%82%AB%E3%83%8A&crid=34VLI31BZ3X9H&keywords=Arduino+UNO+%E3%83%AD%E3%83%9C%E3%83%83%E3%83%88&qid=1641793764&sprefix=arduino+uno+%E3%83%AD%E3%83%9C%E3%83%83%E3%83%88%2Caps%2C374&sr=8-14
https://osoyoo.com/fr
https://osoyoo.com/fr
https://osoyoo.com/fr/category/osoyoo-robot-car-kit/
https://osoyoo.com/fr/category/osoyoo-robot-car-kit/v2-1-robot-car-kit/

19/03/2022 12:55 Kit voiture robot OSOYOO V2.1 Lecon 1 : Voiture robot de base « osoyoo.com

Bienvenue a la premiére lecon de voiture intelligente !

Objectif

Dans cette lecon de version "Hello World", nous installerons le cadre le plus important dans la voiture intelligente et programmerons la voiture pour
gu'elle effectue quelques mouvements simples. Si vous avez réussi le test de mouvement de cette lecon, cela signifie que la carte, le voltmetre, le
module de commande du moteur, les moteurs, les batteries, le chassis et les connexions de fil entre ces pieces fonctionnent bien.

Comme vos expériences dans les futures lecons sont toutes basées sur le cadre de travail de la premiére legon, il est trés important de tester

correctement l'installation et I'exemple de code de cette legon.

Pieces et appareils :

Non. Image Appareil Qté. Accessoires Lien
\Vis en plastique M3 x 3
Carte de base , ) . .
1 1  [Ecrou en plastique M3 x 4 Cliquez ici pour acheter
0OSOYOO . :
Pilier en plastique M3 x 4
2 Bouclier Wi-Fi 1 Cliquez ici pour acheter
OSOYOO Uart V1.3
A

https://osoyoo.com/fr/2020/05/12/osoyoo-v2-1-robot-car-kit-lesson-1-basic-robot-car/ 2/18


https://osoyoo.store/collections/arduino-robot-car-v2-0/products/osoyoo-uno-board-for-arduino-model-lacc200600?variant=31648857915503
https://osoyoo.store/products/esp8266-wifi-shiled-osoyoo-wifi-internet-of-things-learning-kit-for-arduino-uno?variant=31955252215919

19/03/2022 12:55 Kit voiture robot OSOYOO V2.1 Lecon 1 : Voiture robot de base « osoyoo.com

\Vis en plastique M3 x 4
Ecrou en plastique M3 x 4
Pilier en plastique M3 x 4

Cliquez ici pour acheter

\Vis en plastique M3 x2
Ecrou en plastique M3 x 2
Pilier en plastique M3 x 2

Cliquez ici pour acheter

Supports de moteur en métal
avec vis x4

Cliquez ici pour acheter

Cliquez ici pour acheter

\Vis pour roues x4

Cliquez ici pour acheter

\Vis hexagonale M3*10 x5

Cliquez ici pour acheter

Module de pilote de
3 moteur OSOYOO
modele X
4 Volt-métre
5 Motoréducteur
’ e . i \‘:/ (= ]
\ A
hRL
5 }L i & & | Supports de moteur
® =
e en métal avec vis
7 Roue
8 Chassis supérieur de
la voiture
9 Chassis de voiture
inférieur
e

\Vis hexagonale M3*10 x5
Pilier en cuivre M3*40 x5

https://osoyoo.com/fr/2020/05/12/osoyoo-v2-1-robot-car-kit-lesson-1-basic-robot-car/

Cliguez ici pour acheter

3/18


https://osoyoo.store/collections/arduino-robot-car-v2-0/products/osoyoo-model-x-motor-driver-module-for-arduino-v2-0-robot-carmodel-2018000800?variant=31648878755951
https://osoyoo.store/collections/arduino-robot-car-v2-0/products/voltage-meter-for-arduino-v2-0-robot-carmodel-2017005300?variant=31648871121007
https://osoyoo.store/collections/arduino-robot-car-v2-0/products/tt-motor-with-wire-and-connection-for-arduino-v2-0-robot-carmodel-2016013200m-1?variant=31648986857583
https://osoyoo.store/products/metal-motor-holders-with-screws-for-tt-motor-model-2017010900?variant=32204556206191
https://osoyoo.store/collections/arduino-robot-car-v2-0/products/yellow-wheel-for-for-arduino-v2-0-robot-carmodel-2016013200w?variant=31648910245999
https://osoyoo.store/collections/arduino-robot-car-v2-0/products/upper-chassis-for-robot-car-model-dkct100100-1?variant=22292721664118
https://osoyoo.store/collections/parts-for-arduino-robot-car-v2-1-model-2019012400/products/lower-car-chassis-for-arduino-v2-1-robot-car-model-2019004700b?variant=32204577538159

19/03/2022 12:55

Kit voiture robot OSOYOO V2.1 Lecon 1 : Voiture robot de base « osoyoo.com

https://osoyoo.com/fr/2020/05/12/osoyoo-v2-1-robot-car-kit-lesson-1-basic-robot-car/

Fil de raccordement
10 femelle 3 broches a Cliquez ici pour acheter
femelle 3 broches
Fil de raccordement 6
11 broches male a 6 Cliquez ici pour acheter
broches femelle
Céble OSOYOO 2pin ) o
12 Cliquez ici pour acheter
PnP 20cm
13 Philips screwdriver Cliquez ici pour acheter
14 Tournevis hexagonal Cliquez ici pour acheter
18650 hoitier de Vis M3*10 x4 Ecrous _ o
15 . Cliquez ici pour acheter
batterie M3 x4
16 Chargeur de batterie Cliguez ici pour acheter
pour batterie 18650
(en option)
A

4/18


https://osoyoo.store/products/3pin-15cm-female-to-female-cable-for-voltage-meter?variant=31930683293807
https://osoyoo.store/products/6-pin-male-to-female-cable-for-osoyoo-model-x-model-pi-l298n-motor-driver?variant=31872676135023
https://osoyoo.store/collections/parts-for-arduino-robot-car-v2-1-model-2019012400/products/osoyoo-2pin-pnp-cable-20cm-parts-for-arduino-robot-car-v2-1-model-2019016300?variant=32204563513455
https://osoyoo.store/products/phillips-screwdriver?variant=31930635780207
https://osoyoo.store/products/hex-screwdriver?variant=31930641449071
https://osoyoo.store/collections/parts-for-arduino-robot-car-v2-1-model-2019012400/products/18650-battery-box-with-2pin-connector-for-arduino-v2-1-robot-carmodel-2018001700?variant=32204573802607
https://osoyoo.store/collections/arduino-robot-car-v2-0/products/battery-charger-for-18650-model-2019006900?variant=31649052164207

19/03/2022 12:55

Md

Kit voiture robot OSOYOO V2.1 Lecon 1 : Voiture robot de base « osoyoo.com

1 paire de batteries

https://osoyoo.com/fr/2020/05/12/osoyoo-v2-1-robot-car-kit-lesson-1-basic-robot-car/

17 ) 1 Cliquez ici pour acheter
18650 (en option)
Boite & piles 9 V Vis M3*10 x4 Ecrous _ o
18 ) 1 Cliquez ici pour acheter
(en option) M3 x4
‘ - Pile 9V B
19 )i ) 1 Cliquez ici pour acheter
§ (non incluse)
.
< © = O ®
20 M3*10 Hex Screws 10
21 M3*10 screw 4
c i\_
0 &
22 %7 & M3 nut 4
23 Copper pillar 5
A

5/18


https://osoyoo.store/collections/arduino-robot-car-v2-0/products/2pcs-18650-battery-for-arduino-robot-carmodel-2019006800-2?variant=31649033420911
https://osoyoo.store/products/copy-of-9v-battery-case-for-arduino-v2-0-robot-carmodel-2019004800?variant=31930540294255
https://osoyoo.store/collections/arduino-robot-car-v2-0/products/osoyoo-9v-650mah-lithium-rechargeable-battery-with-micro-usb-charging-cable-for-arduino-robot-car-starter-kitmodel-2020001400?variant=31698931482735

19/03/2022 12:55 Kit voiture robot OSOYOO V2.1 Lecon 1 : Voiture robot de base « osoyoo.com

24 Screw for wheel 4

25 M3 plastic screw 9

26 ‘ M3 plastic pillar 10
J e

27 - @ M3 plastic nut 10

Hardware Installation

INSTALL DEVICES

1) Remove the protective film on upper and low car chassis (Each car chassis has one protective film)

P/

? Remove
protective film

2) fix 4 motors with Metal Motor Holders as follow (Please check the motor derection before installing metal motor holders)

A

https://osoyoo.com/fr/2020/05/12/osoyoo-v2-1-robot-car-kit-lesson-1-basic-robot-car/

6/18



19/03/2022 12:55 Kit voiture robot OSOYOO V2.1 Lecon 1 : Voiture robot de base « osoyoo.com

¥ o9
o595

M3*10 Hex
Screwsx8

3) Fix 4 motors on lower car chassis with screw M3*10 hex screws via hex screwdriver (screws for this step are in metal motor holder package)

- 7990

J’F“ =—2u 7997

QF M3*10 Hex
Screwsx8

4) Install OSOYOO MODEL X motor driver module to lower car chassis with 4pcs M3 plastic screws, plastic pillars and plastic nuts. (Please make
sure you install the OSOYOO MODEL X motor driver module in correct direction.)

A

https://osoyoo.com/fr/2020/05/12/osoyoo-v2-1-robot-car-kit-lesson-1-basic-robot-car/ 7/18



19/03/2022 12:55 Kit voiture robot OSOYOO V2.1 Lecon 1 : Voiture robot de base « osoyoo.com

M3 plastic screws x4

£ 5 4 - :

l & :
M3 plastic pillars x4

M3 plastic nuts x4

5) Install voltage meter on low car chassis with 2pcs M3 plastic screws, plastic pillars and plastic nuts

M3 plastic screws x2

| &
| . M3 plastic pillars x2
« 4 -

M3 plastic nuts x2

6) Fix OSOYOO basic board on upper car chassis with 4pcs M3 plastic screws, plastic pillars and plastic nuts. (Please install board at the side
with printing)

A

https://osoyoo.com/fr/2020/05/12/osoyoo-v2-1-robot-car-kit-lesson-1-basic-robot-car/ 8/18



19/03/2022 12:55 Kit voiture robot OSOYOO V2.1 Lecon 1 : Voiture robot de base « osoyoo.com

M3 plastic screws x3

& & &
M3 plastic pillars x4

M3 plastic nuts x4

7) There are two kind of robot car set for you to choose to buy. The one is with 2 battery box( 18650 battery box and 9V battery box), and the other
one is with 1 pair 18650 batteries and 1 piece battery charger for 18650. We recommend to use 18650 batteries as the power. If you want to use 9\
battery as the power, please use rechargeable 9V battery. Don't use Carbon zinc battery, as this can’t provide enough current for the robot car.

A) Fix this Battery Box on upper chassis with 4pcs M3 x 10 screws and M3 nuts.

olll

M3*10 screws x4
ty by by ty
M3 nuts x4

B) Please install this Battery Box on upper chassis with 4pcs M3 x 10 screws and M3 nuts. (these are the same as screws and nuts for 18650

battery box. If you don’t get 9V battery case, please ignore this step).

A

https://osoyoo.com/fr/2020/05/12/osoyoo-v2-1-robot-car-kit-lesson-1-basic-robot-car/ 9/18



19/03/2022 12:55 Kit voiture robot OSOYOO V2.1 Lecon 1 : Voiture robot de base « osoyoo.com

oelll

M3*10 screws x4
GO
M3 nuts x4

7) Insert OSOYOO Uart WIFI shield V1.3 onto your board

®@Om MYBDTON
R e i |
0

DIGITALCPHN ~

CONNECTION

1) CONNECT 4 MOTORS TO OSOYOO MODEL X MOTOR DRIVER MODULE K1 TO K4 SOCKETS AS PER FOLLOWING GRAPF

A

https://osoyoo.com/fr/2020/05/12/osoyoo-v2-1-robot-car-kit-lesson-1-basic-robot-car/ 10/18



19/03/2022 12:55 Kit voiture robot OSOYOO V2.1 Lecon 1 : Voiture robot de base « osoyoo.com

0S0Y0O
Model X

Back

2) Connect Voltage Meter to OSOYOO MODEL X motor driver module with 3pin female to female jumper wire as below connection diagram

OSOYOO MODEL X

motor dirver module | ¢°lors Voltage Mete

o0
moa e c0

0S0Y0O0 : e
Model X

3Pin female to 3Pin

female Jumper wire

A

https://osoyoo.com/fr/2020/05/12/osoyoo-v2-1-robot-car-kit-lesson-1-basic-robot-car/

11/18



19/03/2022 12:55 Kit voiture robot OSOYOO V2.1 Lecon 1 : Voiture robot de base « osoyoo.com

0SOYOO MODEL X Color OSOYOO Uart
motor driver module Wifi shield V1.3

IN3 Yellow D7

White

0SOYOO
Model _X

ESP12/S

K1 *

0S0OYOO Model X motor
driver module

0OSOYOO Uart WIFI shield V1.3

OSOYOO MODEL X | OSOYOO Uart WiFi
motor driver module shield V1.3
12V VIN
GND GND 0SOYOO 2pin PnP cable 20cm

Caution:
When insert/remove this 6-pin plug into Model X 6-pin male socket, please hold the plastic pin-holder to do operation. Never drag the

wires to pull the plug out of the socket, otherwise it will damage the wires.

4) Connect battery box (battery box for 18650 batteries or for 9V battery) to VIN-GND socket of OSOYOO Uart WiFi shield V1.3 according below
connection diagram

A

https://osoyoo.com/fr/2020/05/12/osoyoo-v2-1-robot-car-kit-lesson-1-basic-robot-car/ 12/18



19/03/2022 12:55 Kit voiture robot OSOYOO V2.1 Lecon 1 : Voiture robot de base « osoyoo.com

ESP
URAT

B AS W IV o £

RX TX
TX RX
J0 a4y

I
I
3u3
GND
5y
ANALOG

D5 B_RX TX
DS E

D4 E

>

1

BLE BLE
3u3
(5]

BLE_UART
Y [BNDiyx |Rx
P_UART
ESPESP
TX RX
5U GND Vin

o 131211189 8

L
L
x
L

ES
BND
!l CEEXX]ec000e

ESP12/S

anN J In

ESP
URAT

=

B AS OV LY o

g = .
&

_RX TX
I
_TX RX
33
GND
5

DS B_RX TX
D5 E_RX
D4 E

-

T
3u3

BU BND 1y | px
UAR
ESPESP
TX RX

S

UART
BLE BLE

BLE
ESP
BND

&1 3324148 988

L
Ll
x
<L

]
=.I:IIIIIHHO

5) Connect upper chassis to lower chassis with five copper pillars and fix copper pillars with 10pcs M3*10 hex screws, then install 4 wheels onto the

motors. ( Please loosen the screws on wheel if some of the wheels don’'t move)

A

https://osoyoo.com/fr/2020/05/12/osoyoo-v2-1-robot-car-kit-lesson-1-basic-robot-car/ 13/18



19/03/2022 12:55 Kit voiture robot OSOYOO V2.1 Lecon 1 : Voiture robot de base « osoyoo.com

;ﬂ gﬂ\ﬂ iﬂ hﬂ

§ 4484

eoee@® hﬂ

o

M3*40 copper
pillars x5

Screws for wheels x4

Wheels x4

Now hardware installation is almost down. Before we install 18650 batteries into the box, we need burn the sample code into board First.

Software Installation:

Open-source Arduino % Download software here:

Software(IDE) https://www.arduino.cc/en/Main/Software?setlang=en

7 zip is a free zip Download 7zip here for free
utility that un-zips zip files https://www.7-zip.org/

Step 1: Install latest DE (If you have IDE version after 1.1.16, please skip this step). Download IDE from https://www.arduino.cc/en/Main/Software?

setlang=en , then install the software.

Step 2: Download Lesson One sample code from https://osoyoo.com/driver/v2smartcar-lessonl.zip , unzip the download zip file smartcar-

lessonl.zip, you will see a folder called v2smartcar-lesson1.

Step 3: Connect board to PC with USB cable, Open Arduino IDE -> click file -> click Open -> choose code “v2smartcar-lessonl.ino” in smartcar-

lessonl folder, load the code into board.

A

https://osoyoo.com/fr/2020/05/12/osoyoo-v2-1-robot-car-kit-lesson-1-basic-robot-car/

14/18


https://www.arduino.cc/en/Main/Software?setlang=en
https://www.7-zip.org/
https://www.arduino.cc/en/Main/Software?setlang=en
https://osoyoo.com/driver/v2smartcar-lesson1.zip

19/03/2022 12:55 Kit voiture robot OSOYOO V2.1 Lecon 1 : Voiture robot de base « osoyoo.com

{Open... Ctrl+O |

Open Recent »

Sketchbook »

Eamples 'up code here, to run once:
Close Ctrl+W

Save Ctrl+S

Save As... Ctrl+Shift+5

Page Setup  Ctrl+Shift+P

Print Ctrl+P
n code here, to run repeatedly:

Preferences  Ctrl+Comma

Quit Ctrl+Q

Step 4: Choose corresponding board/port for your project, upload the sketch to the board.

b o FETTRT e

@ sketch_dec28a | Arduino 1.8.13 e H X

Upload
Auto Format Ctrl+T
Archive Sketch
sketch dec?8 Fix Encoding & Reload
s 5'_:_:___1:{} Manage Libraries.. Cirl+Shift+]
// put you crial Monitor Ctrl+Shift+M
Serial Plotter Cirl+Shift+L

WIFi101 / WIFININA Firmware Updater

Board: "Arduino Uno"

- 7 -

void loop()

// put you

b

3 Serial ports

} Get Board Info @™TOM3 (Arduino Un2®

Programmer; "AVRISP mkil* >
Burn Boaotloader

~ Final Testing:

https://osoyoo.com/fr/2020/05/12/osoyoo-v2-1-robot-car-kit-lesson-1-basic-robot-car/

Arduine/Genuine Uno on COMS

15/18


https://osoyoo.com/wp-content/uploads/2018/12/16.jpg
https://osoyoo.com/wp-content/uploads/2018/12/17.jpg

19/03/2022 12:55 Kit voiture robot OSOYOO V2.1 Lecon 1 : Voiture robot de base « osoyoo.com

2) The 18650 batteries we used in lessons are around 65 mm (2.56 inch) long, without an internal protection circuit.

3) Check the box instruction and make sure polar direction is correct, otherwise it can destroy your device and cause fire hazard.

Please install your 18650 batteries in battery box for 18650 as per following instruction:

CAUTION!

Reversing +/- can destroy your device and cause fire hazard

Installation Guide

| AL'€ 05981 P

Disconnect robot car from PC, put battery into battery box. When you put the car on the ground and turn on the switch on OSOYOO Uart WIFI
shield V1.3 and the switch on battery box if you install battery box for 18650, the car should go forward 2 seconds, then go backward 2 seconds,

then left turn for 2 seconds, then right turn for 2 seconds, then stop. (If the car does not move as per above mentioned result, you should check

your wire connection, battery voltage (must over 7.2v).)

A

https://osoyoo.com/fr/2020/05/12/osoyoo-v2-1-robot-car-kit-lesson-1-basic-robot-car/ 16/18


https://osoyoo.com/wp-content/uploads/2017/04/%E7%94%B5%E6%B1%A0%E8%AD%A6%E7%A4%BA%E5%9B%BE.jpg

19/03/2022 12:55 Kit voiture robot OSOYOO V2.1 Lecon 1 : Voiture robot de base « osoyoo.com

i switch of
bax

ROBOT CAR V2 HOME

DownLoad Url : 0S0y00.com

4 Comments

- ramkigudala says:

August 30, 2021 at 1:14 am
Hi,
| connected everything per the tutorial and downloaded lesson 1 code, but car is not moving.

Log_in to Reply

elaine says:
August 30, 2021 at 2:58 pm

1 got a email from ramki.gudala@gmail.com with a photo. Is it from you.
If not, please take a photo about the connections to my email address: elaine@vership.com.
Thanks!

Log_.in to Reply.

Ulises says:
March 9, 2022 at 11:02 pm
Hi!
How can | reset from the fabric the robot car?
Thanks in advance.

Log_in to Reply.

elaine says:
March 10, 2022 at 1:54 pm

I'm not quite sure what you mean. If you want to reset the robot, you can press the reset button on the motherboard; if you want to upload a different code to the robot, you may need to connect a
computer and upload the new code through the Arduino IDE. o o

A Log.in to Reply

https://osoyoo.com/fr/2020/05/12/osoyoo-v2-1-robot-car-kit-lesson-1-basic-robot-car/ 17/18


https://osoyoo.com/?p=32220
https://osoyoo.com/?p=32228
https://osoyoo.com/fr/2020/05/12/osoyoo-v2-1-robot-car-kit-lesson-1-basic-robot-car/osoyoo.com
https://osoyoo.com/wp-login.php?redirect_to=https%3A%2F%2Fosoyoo.com%2Ffr%2F2020%2F05%2F12%2Fosoyoo-v2-1-robot-car-kit-lesson-1-basic-robot-car%2F
mailto:ramki.gudala@gmail.com
mailto:elaine@vership.com
https://osoyoo.com/wp-login.php?redirect_to=https%3A%2F%2Fosoyoo.com%2Ffr%2F2020%2F05%2F12%2Fosoyoo-v2-1-robot-car-kit-lesson-1-basic-robot-car%2F
https://osoyoo.com/wp-login.php?redirect_to=https%3A%2F%2Fosoyoo.com%2Ffr%2F2020%2F05%2F12%2Fosoyoo-v2-1-robot-car-kit-lesson-1-basic-robot-car%2F
https://osoyoo.com/wp-login.php?redirect_to=https%3A%2F%2Fosoyoo.com%2Ffr%2F2020%2F05%2F12%2Fosoyoo-v2-1-robot-car-kit-lesson-1-basic-robot-car%2F

19/03/2022 12:55 Kit voiture robot OSOYOO V2.1 Lecon 1 : Voiture robot de base « osoyoo.com

You must be logged in to post a comment.

Palitiqgue de confidentialité © 2009-2017 Osoyoo.com

A

https://osoyoo.com/fr/2020/05/12/osoyoo-v2-1-robot-car-kit-lesson-1-basic-robot-car/ 18/18


https://osoyoo.com/privacy
https://osoyoo.com/wp-login.php?redirect_to=https%3A%2F%2Fosoyoo.com%2Ffr%2F2020%2F05%2F12%2Fosoyoo-v2-1-robot-car-kit-lesson-1-basic-robot-car%2F

